Paper: B.E_B.Tech

Set Name: |SET 30

Exam Date: | 30 July 2022

Exam Shift: | 2

Langauge: |Assamese

Topic: Physics-Section A
Item No: 1

Question ID: 15477154561
Question Type: | MCQ

M 2[1= (1), 91 * & (K) WE T4 (Q) CRfeTss ¥ 09 (7141 =W,

Question: S o S
A [K'QI]

B [KIQ™]

C: [KQI™]

D: [k Q1]

Topic: Physics-Section A

Item No: 2

Question ID: | 15477154562

Question Type: | MCQ

IF T LT NS T GIF A WP B (T PCA 16 m/s WF 20 m/s (FU5TI
AR Mo TR | (IS 5306 200 m 79 AF HiEes

Question: FASIH RGN ATVES (Y] AT W® JSTNACS (FF A9 F1 M
ATIFYUN 2 m/s 2 ﬁ‘ﬂ?@@iﬁw B G4 4 m/s” ﬁ'ﬂ?{@ﬁﬁﬂ cgfom
STETe SRTS I 1398 WG Hey =m0

A: 14m

B: 114 m

C: 86 m

D: 64 m

Topic: Physics-Section A

Item No: 3

Question ID: 15477154563

Question Type: | MCQ

Question:

1 kg ©F9 99 AGIF Y41 100 my/'s (TS 10 gram O L6 AT TS ST
=R | IHRLOIS AfGEFS (Recoil) TS 22




) "
A: 1 /..

. m
B: 10 7¥¢

. m
C: 0.5 /5

. m
D: 0.1 /\
Topic: Physics-Section A
Item No: 4
Question ID: 15477154564
Question Type: | MCQ

G SRR FAEF 5T %S 0.5 ke T 99 JBT T F2T (208 T
AFOF (YT 1 m W 8 T 800 Nm | PG SRLGT 18 HESIE

Question:
YT (R I GILOIA 20 rad/s (HITH O IYN AL NF GeTO J0T
JEIFE AW 5ifo FER | R T (TN ET238
A: Lo
1
B: lﬂl
4
1
C: —m
3
D: 1m
5
Topic: Physics-Section A
Item No: 5
Question ID: 15477154565
Question Type: | MCQ

SIS NG99 X' SRIGE AN § I29 | 1 &1 NS 799 1.5 «

Question: 1011 | ST 9/T X SI(BE R X
A: 342 x101m

B: 3x101m

C: 6x 101 m

D: 12x 101 m

Topic: Physics-Section A

Item No: 6

Question ID: 15477154566




Question Type: | MCQ

AT ©IF (00 M ©F9 35 6T HT51 FE (2R | BSOS ST DL
BT NS S SeTd D081 FAMIE WS (oa© (MYS 4= | TI61
WL SP-(FRAS Flel JF2 | SITTGETS ©F W90 e 419, Bl o
FATS OGS (=4 TG [9F0F SIoTs =7,

(7 O, Bl 38T @MsF =2 < 10! N/m 2
I FAEE RAGT BMRF =15« 101! Nm ?)

L LSS

Question: T
Steel
- - -
AN
Copper
v N
Lo
T
3
A: -
5
4
B: —
5
4
C: —
3
3
D: -
4
Topic: Physics-Section A
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Item No: 31
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Question Type: | MCQ

x+ty—z=-1

x— g3z =2

Question:
—X+ptz=p
(M= STUIFIET AMACTE SN SLTF ST A, (OlS
Ou+2u, 20+ ) AP (1 5) LI (IR (I STAFIE 2T -
A dx—6y=-5
B: s e e
C: 2x-2y=-1
D: 4x+6y=>5
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Question ID: | 154771545664
Question Type: | MCQ

Ovecton 1 27T 4 BT (erse e [} 34| 2 ‘l‘H; 0| Tad + by +3=0fewrs
TN IO JeT30! 14| T 42 T, (OB a + b— ab AN =TT -

A: -34

B: 50

C: -390

D: 438
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Question ID: | 154771545665

Question Type: | MCQ

Question: nie, _n-lc, -:f 2p <o RALE ¥ HBLeT W (IT57Fe] BT -
A: 40
B 45
C: 55
D 56
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Question ID: 154771545666
Question Type: | MCQ

(1+ 202022 4 25 (1 + 202920 + (2502 (1 + 2002020+ + (2x)2022 FM=Ere 1011

Question:
EREVIEGE
A: 02C i
B: 202¢, . x (2)L01
i
c: 2023¢, 0y, x ()01
. 2023
D: Cion
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Question ID: 154771545667
Question Type: | MCQ

ol = 1.9 I T 5429 63, 529~ | NG oifo® WG 9 ST
W@ d| 49 2 A6 TAFE A50F YT AR o W AHET B d. (00 R

Question: S5SF Y 0 BT YMF (W151Fe S, (T IGURCR I M S35— S5 = 30k (OB k
HATH 2] -

A: 715

B: 695

C: 0684

D: H83
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Question ID: 154771545668

Question Type: | MCQ

Question: 2 S M HAH =T -
= (m+1)

A: Zie Ty

B: 211

C: 2c+D

D: 2(e+1)
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Question ID: 154771545669
Question Type: | MCQ
g1 =+
r . .
sin{ax + 3x) + sin x il
x
2 =10
. f(x} i : X
Question: i
5. B
3 3
2 _
&+5m:1 X . b
- ipé
FARE! x = 0 i< 9 (1-k}f[l)=ab.mﬂ L ST &1 |
18
A: —6
B: 15
C: —13
D: 8
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Question ID: 154771545670
Question Type: | MCQ
1x T
Question: BRI yx)=tanx— | (xF —xr+Dsinrdr (90T x= 3 9 2y — " AT AN R -
0
A: 158
B: 159— 443
C: 126
D: 127443
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Question ID: 154771545671
Question Type: | MCQ
K+l 20
Question: W-EIET ‘4# :-L[IIL R lﬂe Tyinx el - k =l s 20 E@EEE Z |A.IEC| WEJEI -
il =0
A:

[E?E + 1\5 (]_ e_zﬂ'“]

et -1




B: 1fe™+1 21m)
. 2le™-1
C: [ j(l e‘zl"ﬁ
D: o [ \} ( _?DT]
i :
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Question ID: 154771545672
Question Type: | MCQ
) n{n: +k1]
Question: Hm ) s HAN =29
R = (n +roks +k ]
%,
A: \E’:—
N 2n
. 3‘“{%
T
C: 2J§
T
D: oy
3
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Question ID: 154771545673
Question Type: | MCQ
| AWy =) R xay +(xtan (£ |-y Jte=0..x> 0 BIF YD = F ST
Question: X
FRFIEIF PTF BE. (OB (42) I 46T W X
il
A: ?WE
B: ]
. zﬁ
C: -
. 2ﬁ
D: At
. ZJE
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Question ID: 154771545674
Question Type: | MCQ
SEIEG| j&:f::z. b >0, y(5) = 0 TIPFeTN F NS TNHH TP v = y(x)
Question: 9 G IS O8I BT 1371 49 T y = y(x) (T y 9FS P W Q [471©
FIE1 TNy = v TP ¢ 775 =*RfFEne 1 s =1, @®
APTQ ¥ FIfe1 21 -
A: 13.5
B: 13
C: 14.5
D: 15
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Question ID: 154771545675
Question Type: | MCQ
2 2 2
iy LYo RIS WE £5+%=1 GAFed NwRd J0H TW. (B8
Question: a- 12 2
(0, + o) VoG [P HLST (0. a + 1). T (=1 B TFerer 29 -
5
B: 2
3
C: %
D: 3
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Question ID: 154771545676
Question Type: | MCQ

41 29 12 = b W xp = -1 &P OIER JGT HILRET ™% g V€ AT

Question: 1 | (U8 k TR STGAEACH] 29 -
A 2. 4]

B: (3, 1)

C: 4, -3)

D: (1. 3)
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Question ID: 154771545677
Question Type: | MCQ

2% x—y—2z+3=0¥P 3x -2y + 62+ 8§ = 0 N9 HANF UGS

Question: SERLPINE ax + by + ez + 3 = 0 (V QU G© FRRI (STV g + b+ ¢ TN X
A: =31
B: 28
C: 2
15
D: —28
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Question ID: 154771545678
Question Type: | MCQ

x |0-10 10 - 20 20 - 30 30 - 40 40 - 30
Question: f |3 6 2 P ¥ 3f=20
SATLGIE WL S VTN TN 2, (00 xy” HN 2 -
A 54
B: 80
C: 100
D: 108
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Question ID: 154771545679
Question Type: | MCQ

61 5ed BEE Oed P F T Aw N ods A {5 (99 (2 151 o1
(5T0® GO (FI 4571 AT A6 S 50m I NHS W IGH & B

Question: fere (= =T | 1% BS SBIHE 5o (S 30° =4, (018 S 559
(Ror®) 23 -

A: 2542

B: 5042

C: 256

D: 30
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Question ID: 154771545680

Question Type: | MCQ

Question: BeTd (PIIOT Ofer (99191 2] 2
(~pva=>~@=9)

B: (~=4q)A(~p)

C: (p=g)Ap

D: (~p)A(~q)
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Question ID: 154771545681

Question Type:
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Question: 2+ 3x+ 2+ + 5 —2=0, x € 5 AAGIEE THEE H2 2T -
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Question ID: 154771545682

Question Type:
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-5
BRIk [x2+2+;—2} (1+x2‘_]4” T 2PYFS 0 STRS51E G AW [KLaEee s

Question:
p; T p, (61 W 59y GG ClIlE LN =3, (OB p; + p, TN 2
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Question ID: 154771545683

Question Type:
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27— 32— 12x + b= 0 J [OIWGI foF IS T4 ATHFICA b T LY TN ST

Question:
g .
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AGT TN (air duct) BIRGT AR 4TSGR TS ATOF (NS | NAI6I TYL
A AT (AT N (AT | 2HF (RAIL=T A6 (GUATGRIS 19 ©f Sl (F1
60° T FIT 1.5 m?2 | BT (LT 1 m| fﬁm]ﬁ‘aﬂﬁmx=xg
(RGIE) TS IINAIET INRIE A TI2E FH 4G ATSI6E FIfe
SINH W, (OB 16 (xp)* TN X -
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Question Type:
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ﬂﬁ}-’ =x2, y3 =x.x=-19¥y =J{2= _‘_1'3 =x. x=1 4&P{dld AP x = 2y (419

Question: M
SNTS YFH] WIS LT FIel — T (Ol8 » TN 29 .
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Question ID: 154771545686
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YR T A (0. a+2). B (0. a). C (2. 0) = D (2. 0) BISGT [ A® AD HF
BC (IUTOITEA P (x,y) 779 06 | M PT ST261F YOI £ (x, 1) = 0 IGBL6T ZW.

tion: P y
Question [P S I SNTS (4, ) [T G =i B i+E=1 =Y. (O1F
a(Pp—nANN=2T |
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Question Type:
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Question:

=1 27 yz STNSETS L, G (L T y S 2 (AR TN }1 G

1
—(C=
=

0)| 491 27 xz TGS [, G (F2 AT x WP 7 (RAISH TN %W—% |
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Question Type:
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4§91 T 0 ABC MUIGI{B W O Ye_LA (2. 4. —5) I C (b, 2, 3)1 TR
P(a a a) AN Q9 -d>3,a-1),a€ll, M0 RYIMO 55 © 5p T AGCHA

Question: . s R
2W® go (A HOIRIAE W5RS 1919 YA (F1 F14, (9lF |OB|_+‘AC|_
=9 |
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o 4,
451 M52 HeT X I Sl 76N 2e PX =)= i=1.2,3, o XT

Question:
HAAFI AN =] I
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